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Please check that this question paper contains 23 printed pages.

(i)

Te-T3 T Ife 1Y ht 3TR U 7T 7o -3 Shig i wieeff IT-gfeden & J@-7ss W
ford |

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

(ii1)

AT S L o o S THA-TAH O T 2 |
Please check that this question paper contains 30 questions.

(iv)

FIAT T il IR AT IE FH 8 T, IT-GReaah1 § T T shTeh 7avd o |
Please write down the serial number of the question in the answer-
book before attempting it.

v)

3G Y¥-TF I Ued & foru 15 fire o1 wm feam o 2 | yea-va o1 forawor qats § 10.15
TS T2 ST@T | 10.15 &1 & 10.30 St deh Tt heel I3-9 1 T 3R 39 3raty
3 B & TR T T 3 T R |

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

candidates will read the question paper only and will not write any answer
on the answer-book during this period.
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Please read the following instructions carefully and follow them :

General Instructions :

(1) This question paper contains 30 questions. All questions are

compulsory.

(it)  Question paper is divided into FIVE Sections — Section A, B, C, D &

E.

(iti) In section A - Question number 1 to 12 are Multiple Choice (MCQ®) type

Questions.

(tv) In section B - Question number 13 to 18 are Short Answer (SA) type

questions carrying 2 marks each. Answer to these questions should not

exceed 50 words.

(v)  In section C - Question number 19 to 23 are Long Answer (LA) type

questions carrying 4 marks each. Answer to these questions should not

exceed 100 words each.

(vi)  In section D - Question number 24 to 26 are passage, cartoon and map-

based questions.

(vii) In section E - Question number 27 to 30 are also Long Answer type

questions carrying 6 marks each. Answer to these questions should not

exceed 170 words.

(viit) There is no overall choice in the question paper. However, an internal choice

has been prouvided in few questions. Only one of the choices in such

questions has to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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1. 31 fush sfaei o fore smeron <6t ifd =61 we8 vgel f=fefea & @ feem e fpamen 7 1

Qug —<h

(a) YL 3T (b) .. T
(c) stumie () R
2. Tr=ferfea genat #i FeshuER safer Hif : 1

(i) TSH AT h RARTREI 1 AR AT |
(i) AR T8 T TRl SR U S |
(i) RIS o G JolTel Gl 9T B&1er |

(v) Tie el =T SeE ST |

gl fashed g |
(@) (@), (i), (v) 9T (i) ()  (@v), (i), (@) 74T (1)
(o (D), (v), () 74T (i) (d) (@v), (1), (1) 74T (iii)

3. 25 3, 1975 @I, fr=fafea & @ frm Jar 3 yamgEht sfeu e & % forg

YA FeTrg hi Syor <ht oft ? 1
(a) TS eHTE (b) STATHT TR
(c) St HeAT-SH (d) 37ee forgrl areroeht
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SECTION - A

1.  Who among the following introduced a policy of reservations for OBCs for

the first time ? 1
(a) Karpoori Thakur (b) B.P. Mandal
(¢) Indira Gandhi (d) Mayawati

2. Arrange the following in chronological order : 1

(1) Implementation of recommendations of Mandal Commission.

(i1) Appointment of Manmohan Singh as Prime Minister for the first

time.
(iii) Signing of the Punjab Accord with Longowal.
(iv) Appointment of Rajiv Gandhi as Prime Minister.
Choose the correct option :
(@ @, (i), @v), @) (b) (), (ild), (1), (i)
(0 (i), v), (), (i) (d  @v), @), (1), (1)

3.  Who among the following had announced a nationwide satyagraha on 25th

June, 1975 for the resignation of Prime Minister Indira Gandhi ? 1
(a) Morarji Desai (b) Jayaprakash Narain
(¢) George Fernandes (d) Atal Bihari Vajpayee
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4. = feuw 7T 939 | Q) ST B HAN: AR (A) AT HROT (R) % &9 A 31ferd fepam man
2 | I ST ! H § ufeu 3R srenfafad foemeal 0 9 Tt ush <1 T8t STk w0 4
g |
HANTHRUA (A) : 1969 T HIH Il 1 forrom &1 |
HRUT (R) : i fadiehe 3 sfeu miieh & i mearst of |
ferpe
(a) AR (A) IR HW (R) QT F & 3R FROT (R) SMH (A) 1 Hel FROE |
(b) MR (A) 3R HRV (R) GH1 91 &, g 0T (R) 31Ther (A) T Tt R0
TR
(¢ 3R (A) T8 B, WHRT (R) T 7 |
(d) FAMHYT (A) TeTd B, THRT (R) T2 |
5. IS I 1 T frfaifaa o & feroeh grugamen ?
(a) TR o HfTe g |
(b) YA % TFUT g7 |
(c) YTd TLhR o Ush T&ITd g7 |

(d) e a9 gR |
6. Tg-ugm fagra foraa wega femem o, fraes s forfesr s o favmsm gam 7
(a)  3TSGH THHT (b) e o
(c) forfew awhm () g e
7. TafaRea & @ %9 @1 we “dvdihr F IR T FE R ?
(a) el ufverfieto § |
(b) SefieRtor SR R |
(c) SITeliehToT TR g & |
(d) AT Teh FEITRATH TFLROT 2 |
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4. In the question given below, there are two statements marked as
Assertion(A) and Reason (R). 1

Read these statements and choose one correct answer from the given
options.

Assertion (A) : In 1969 the Congress Party faced a split.

Reason (R) : Factional rivalry existed between the Congress Syndicate
and Indira Gandhi.

Options :

(a) Both (A) and (R) are true and (R) is the correct reason of (A).

(b) Both (A) and (R) are true, but (R) is not the correct reason of (A).
(¢) (A)1is true, but (R) is wrong.

(d) (A)1s wrong, but (R) is true.

5. Planning Commission was set up by . 1
(a) Constitution of India
(b) President of India
(¢) aresolution of Government of India

(d) the Constituent Assembly

6. Who advanced the “Two Nation Theory’ that led to the partition of British

India ? 1
(a) Abdul Gaffar Khan (b) Muslim League
(¢) British Government (d) Congress Party

7.  Which of the following statements is TRUE about globalisation ? 1

(a) Globalisation is westernization.

(b) Globalisation is industrialization.

(¢) Globalisation is economic growth.

(d) Globalisation is a multidimensional phenomenon.
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8. Treferiaa demedi # & win Afvas qrig TEi R 7
(a) UThfewhT (b) L HA®
(c) @ srafer (d) e

9. freforfad # & i e ger s srwaid T ?
(a) Terel TSIE 21 GRY SHThHOT
(b) Toreft EshmeeR T 1 e
(c) T T

(d) 3TdehaTe T foR

10. I Y T T&T 3e99 8 —
(a) I8 7T BRRIT S 1 Tkl |
(b) T Fe! ! UehT |
(c) TRt i T |
(d) SRoTIRIET % Hera S Uk |

11. 19 9T, 2003 ! 3THIHT 3 3Uh WX fohd SpeATd & ST1shuor femam o 2
(a) SATRIA S5 & (b) IATRIA FH! hieH
(©) ITRYA SHIETRS i (d) TRIH TregfuT e

12. f=fafaa o @ = ar < @ifasa g9 1 am Tgi o ?
(a) Iohd (b) Sf
(¢ st d) wEfE
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8.  Which of the following resources is NOT a global common ? 1
(a) Antarctica (b) Ocean floor
(¢) Outer space (d) Forests

9.  Which one of the following is a concern under Traditional Security ? 1
(a) Attack by a neighbouring country
(b) Spread of any pandemic disease
(¢) Global warming
(d) Spread of terrorism

10. The main objective of United Nationsisto_ . 1
(a) prevent manufacture of war weapons.

)
(©
(d)

prevent international conflicts.
prevent industrialisation.

prevent spread of refugees.

11. On 19th March 2003, the US launched its invasion of Iraq under the code

name . 1

(€Y
(b)
(©
(d)

Operation Desert Storm
Operation Iraqi Freedom
Operation Infinite Reach

Operation Enduring Freedom

12. Which one of the following countries was NOT a part of the Soviet Union ? 1

(@)
(©

59/2/3

Ukraine (b) Georgia
Italy (d) Estonia
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13. eI o1 312 TS SHehT gHT STaUuTIa < A9 faafaw | 1+1=2
14. JFr % fF=8l 1 1 T AU HIMT | 2

15. 9T o UH & YUTHEET shl U8 hifoy Sl Teh o8 G hH GRA 6 fq g d @1 2x 1= 2

16. 9Rd % UH < T 6! T HITC TaT e, THR I STRTEETE SATRISH] BT AT

T LT | T RIS T Aqcd i aTel a3t o 41 H i | 1+1=2

17. T 3R Tl o o= graeei hl forf3medn o1 ssrr shifsie | 2

18. TA. €U, TN G 2014 % STe HIgeA1311 shi T Td I o 10 & fepy M fereelf
2l HRISHHAT T Ieid HITT | 2x1=2

wUg — T

19. 3TTAHATE o IS G e T SHITSTC TT $6h fohral QI wFid HTHAT bl SR BT | 2 + 2 = 4

20. “fohra 1 fsham UTI: FafeReT 1 B UgETd & | fheel € waieRefia steel & ded

H $YH ! FFIHT 3T | 2x2=4

21. 9RA 3R ITRFEAT o S TEs=e] o1 YoaTeh IETEWT <h! HEwIdT & HIfT | 4
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SECTION - B

Explain the meaning of security and mention its two notions. 1+1=

Describe any two functions of the UNICEF.

Identify and name of any two Prime Ministers of India who remained in

power for less than a year. 2x1=

Identify any two states where the Central Government had to

face separatist movements. Also name the leaders who led these

movements. 1+1=

Highlight the speciality of India — Nepal relations.

State any two programmes launched by the NDA government after 2014

for women’s help and progress. 2x1=

SECTION - C

Explain any two objectives of terrorism and highlight any two classic

cases of terrorism. 2+ 2=

“Development mostly causes degradation of environment.” Justify the

statement referring to two environmental movements. 2x2=

Evaluate the relationship between India and Pakistan with the help of

examples.

2

2

2

2

4

4

4
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22, “YeeliehtuT I=Td TENfiTehY bl €t Uk IRUTH B |7 <1 IeTEWIT <hl FaTal & 2 sh1 gy Hifsw |

2x2=4

23. <feq iRt gry e g o foTu 3314 MU foheel 9 shedl 1 o IR | 4x1=4
Qg -d

24. = feu Tu sreduor 6 ey @ ufed 31 Aenfafad geai & s v 4x1=4

“UTA 3 g TETY] TeT0T fopT 37 218 ST fob 3eh 4T84 38991 o fote srvprfa
T LA I AT B | 6k L SiTe ek 3 oft oAy wdveror fepu | sr=aaiga femred
9 gHl R $B wlaey T {57 §1e § geT ot T | wRa 3 oRHm) STER i |fRe w6
fertrey fomam 1
(24.1) WA 7 fore o 3 qemmo] wdeor e ¢

() 1971 (b) 1985
() 1992 d) 1998
(24.2)  Frfefaa @ @ 3@ affr o g e w wra 3 geamer #@ @ e fean
(a) SATIH TRHTY] Tieqor Hiaee df
(b) T T
() vrersfier TwEitan
(d) Ty ot wf

(24.3) TR § YA Y] SHofl bl SAATAGAT AT
(a) nfrget geze < fere
(b)  TRHTY 5H S % fere
(c) TETRIfGTE! & YhTeeT i & feTg
(d) 3r gen % forg

(24.4) WA A Terueh WTTEEM § 379 TRHTY] SRIsHH i I[& foham o1 2
(a) Hrel @A (b) vt S, T
(¢) TS 37egd Hem (d) . FELTH
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22. “Globalisation is the outcome of developed technology.” Support the
statement with two examples. 2x2=4

23. Describe any four steps taken by Indira Gandhi to remove poverty. 4x1=4

SECTION-D

24. Read the following passage carefully and answer the questions that
follow : 4x1=4

India conducted a series of nuclear tests demonstrating its capacity
to use nuclear energy for military purposes. After this, Pakistan also
conducted tests. International Community imposed sanctions on both
India and Pakistan which were subsequently waived. India opposed the
international treaties aimed at non-proliferation.

(24.1) In which year did India conduct series of nuclear tests ?
(a) 1971 (b) 1985
(c) 1992 (d) 1998

(24.2) Identify the treaty that India refused to sign.
(a) Comprehensive Test Ban Treaty
(b) Shimla Agreement
(c) Panchsheel Agreement
(d) Indus waters Treaty

(24.3) In the beginning, India wanted to generate nuclear energy for

(a) peaceful purpose.
(b) making atomic bombs.
(¢) competing with the super powers.

(d) ensuring its security.

(24.4) Under whose guidance did India initiate its nuclear programme ?
(a) C.V.Raman (b) Homi J. Bhabha
(¢) A.P.J.Abdul Kalam (d) K. Kasturirangan

59/2/3 I— 1] Page 13 of 24 P.T.O.
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25. WA o feu 7T UsHifoss W@-Amfa # =R U1 &1 (A), (B), (C) 3R (D) | g /=
2 | = € TTE ST % SR W g9 TS <h! TE=TH SHITorg 3R 39k &l A, e b
T BRI <1 shH T qUT THA H 3ifchd Fraf=ad 318R 1 391 ITR-gfegent & =
fou ymew # fafgm | 4x1=4
g I T THER H | TS HER | OeF AW
THA &

1.
11.

111.
iv.
Q) a8 Usa T8 319 Q1 g wrrie & o forver fpam mn ® |
(i) I TS AT “Tsiia ieft — ARTeTe Tusia” T el gy |
(i) o8 T Tores ATeT S 1 e o |

(v) T T Tl T FIere STTeIer T g7 7 |

A
e Lo
e ~ —
§
1, r T
.
-
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25. In the given political outline map of India, four states have been marked
as (A), B), (C) and (D). Identify these states on the basis of the
information given below and write their correct names in your answer
book along with the respective serial number of the information used and
the concerned alphabets given in the map as per the format that follows :
4x1=4

Sr. No. of the Concerned Name of
information used Alphabet the State
1.

ii.
1ii.
1v.
(1) The state which has been bifurcated in two Union Territories recently.
(1) The state where Rajiv Gandhi — Longowal Accord was signed.

(111) The state to which Laldenga belonged.

(iv) The state from where the Dravidian Movement started.

-;m-"'“'\‘ Outline Map of India (Political)

L e

59/2/3 I— 1] Page 15 of 24 P.T.O.
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(25.1) SHATTY IR 370 TR TE 2 2
(25.2)  TorE TST U@ wamwEt TSfa e 6 g g8 off ¢
(25.3) 1966 H forH T=T I ATTRA STER 9 ATfad forar T o 2
(25.4) A S A Tohd TS H SITIETE! STTGIT o -cdl Tohal 4T ?

26. = feu Tu H1E 1 eaHgdes JrereH Hifore 3R Anfafgd sk s fefen | 4x1=4

(i) 7 gHI Il b gy Fefafaa g o feraewa g 7
(a) SMUHE b) foadm
(c) gftqurwifeaT (d) =i
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4x1=4

Note : The following questions are only for the Visually Impaired
Candidates in lieu of Q. No. 25.
(25.1) Article 370 has been abolished from which State ?
(25.2) In which State was the former Prime Minister Rajiv Gandhi
was assassinated ?
(25.3) Which State was created on language basis in 1966 ?
(25.4) In which state did Laldenga lead a separatist movement ?

26. Study the given cartoon carefully and answer the questions that follow : 4 x 1 =4

@

59/2/3

| THEN

Now

HU'S
CAPITALIST
RED
"POWER

To which country are these two cartoons related ?
(a) dJapan (b) Vietnam
(¢) South Korea (d) China

||| ::: II\ Page 17 of 24
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(i) e ferarer o1 gy forg fmmuma ® 7
(a) YSfEmg (b) FEEE
(c) HMHETG (d) 3Rt

(iii) dofioed 2TE o1 o AR R 7
(a) HTHETE I THTAT

(b) IShraTe Y TlehrAT
(c) UTIaTE reeawer 1 YsfiaTe & areHd
(d) IShaTe ST TR

(iv) TS o TR W G’ 37 T’ T 1 A< 7
(a) ‘7o H framyT H ‘IS FRA T R |
(b) T IR ‘I FHAFATE 2 |
(¢) “TE’ o IFAaTd a1 IR ‘IS & JT=qId dT STl 3TAT Tl ITeish gedl 9 7 |
(d) qE % a1 IR ‘I’ % JqT ITAT-ITAT AN AE |

e : Frfefaa o Fae givafera udenfer & e e den 26 FmwE: 4x1=4
(26.1)  wra, ffefaa 8 9 fora foramem =1 /e Har @ 2

(a) 3ERATE (b) HHTSTETE

(© s (d) =ETRE

(26.2) 1982 ¥ far=fetftaa § & i @1 ueh ufterad =fia ° fepan mam ¢
(a) 3T <1 Tasfientor femarm T |
(b) T THIfeeh 3T IATRIH TehTdaTd b1 FHT fehat 74T |
(¢ forory smifefer &= wenfi fopw o |
(d) B 1 iRt femem T |
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(a) Capitalism (b) Communism

(i1) Red Book is related to which ideology ?

(¢ Humanism (d) Terrorism

(111) What does the ‘Red Power Tie’ depict ?
(a) Negation of communism
(b) Acceptance of Capitalism
(¢) Coordination of communism with Capitalism

(d) Negation of Capitalism

(iv) What is the difference between ‘then’ and ‘now’ as per the cartoon ?
(a) ‘Rigidity’ has increased now in the ideology of ‘then’
(b) Rigidity has decreased ‘now’ in the ideology of ‘then’.

(¢) The leader under ‘then’ and the leader under ‘now’ belong to
different political parties.

(d) The Leader under ‘then’ and the leader under ‘now’ belong to
different organisations.

Note: The following questions are for the Visually Impaired
Candidates only in lieu of Qn. 26. 4x1=4
(26.1) Which one of the following ideologies is followed by India ?
(a) Liberalism (b) Socialism
(¢) Capitalism (d) Communism

(26.2) In 1982, which one of the following changes was made in
China ?
(a) Privatisation of industries was done.
(b) China ended its political and economic isolation.
(¢) Special economic zones were established.

(d) Privatisation of agriculture was done.

59/2/3 I— 1] Page 19 of 24 P.T.O.
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(26.3) fAfafgada s aTwea s TR A 9L 2 ;ﬁ%
(a) FBTTUGA R |
(b) FET TS 7 |
(c) UEl SgeTa AR |
(d) =& forefi-Teft Tn 2 |

(26.4)  Tr=fafiga 4 @ &4 91 U fahes <= A grag T2 8 ?

(a) TUTHA b) <=
(c) EHTEHN ) s
gug -

27. (a) Hiforra w8 o faees & foru STierf fongl i swmon <1 s Shifs | 3x2=6
A

(b) TR ST HISH’ o I23F Ud 3Hb fehral qf UNUTTHI ohl ST HINT 12+ 2+ 2 =6

28. (a) = g g = % anfiies foema % fotu 31U MU Rl <ffA el T Yo
HIT | 3x2=6

JAYAT

(b) ST H AN T Alha= o fd T A arelt fohgl dH Tq@ =131
fergersor i | 3x2=6
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(26.3) Which one of the following statements is true about China ?
(a) Itis arepublic
(b) It is a monarchy
(¢) It has multiparty system

(d) It has a coalition government

(26.4) Which one of the following symbols is NOT related to China ?
(a) The Great Wall
(b) Dragon
(¢) Bicycle
(d) Rising Sun

SECTION - E
27. (a) Explain any three reasons responsible for the disintegration of the
Soviet Union. 3x2=6
OR

(b) Explain the purpose of ‘Operation Iraqi Freedom’ and its two

consequences. 2+2+2=6

28. (a) Evaluate any three steps taken by the Chinese leadership for the

growth of Chinese economy. 3x2=6

OR
(b) Analyse any three major happenings in Bangladesh that show

peoples’ support to democracy. 3x2=6
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29. (a) Y. IS IUTEAT S Toemerry 37 gui o1 eareh 3eh! forameam Y fopedl i

forRIwaTati % STMUR W HIT | 3x2=6
areran
(b) 1971 3 1k T FATAT o Teheal o= TROTTHT BT YoTehH T | 3x2=6
30. (a) e THANTT AT I TRl i frearsti &1 SR HIT | 3x2=6
e
(b) TEEFAT % A TG TR TR o gHey foreenfia o & Trafra o1me fopedi o
GO I IATR HIT | 3x2=6

59/2/3 I —1 Page 22 of 24
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29. (a) Evaluate the ideology and philosophy of Pandit Deen Dayal
Upadhyaya on the basis of any three features of it. 3x2=6
OR
(b) Evaluate any three outcomes of the Lok Sabha elections of 1971. 3 x 2=6

30. (a) Highlight any three features of the First Five Year Plan. 3x2=6
OR

(b) Highlight any three problems faced by Government of India

immediately after independence related to the displaced population.

3x2=6
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